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9210 $EHET = H 1 0 1 0 0 0 0 0 0 0
9220 SxETHH 2 4 2 0 0 0 0 0 0 0
9230 $EHTE M 3 1 0 1 0 1 0 0 0 0
9240 $EHETIEE 1 0 0 1 0 0 0 1 0 0
9250 % HT At #r b 4 0 0 0 0 2 1 0 0 0
9999 S XET 29 24 14 12 9 10 3 2 1 1
9310 E[FHET:AR 3 2 0 1 1 0 0 0 0 0
9320 H[SHETIL 0 0 3 0 0 0 0 0 0 0
9330 FH[SAT/INE 0 1 2 0 0 0 0 0 0 0
9340 R [ZHTR 2 2 0 0 0 1 0 0 1 0
9999 R[GHXET 5 5 5 1 1 1 0 0 1 0
9410 RETT & 6 3 0 1 1 0 0 0 0 0
9420 RHETHHE 2 2 2 0 1 1 0 0 1 0
9430 RETFER 1 0 1 0 1 0 0 0 0 0
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 1 0 0 0 0 0 0 0 0
9460 RET{—_HE 0 0 0 0 0 1 1 1 0 0
9470 RETEXR 1 0 1 0 0 0 0 0 0 0
9480 RHETHER 0 0 1 0 0 0 0 0 0 0
9999 RIXXEt 10 6 5 1 3 2 1 1 1 0
99999 &t 198 169 149 103 77 69 41 28 17 9
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10 HAT 0 140
20 fE&LET 0 137
30 @M 1 173
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50 KET—T B 0 196
60 KET=TH 0 169
70 RET=TH 0 232
80 AT IEHET 0 74
90 FEHNT IR AT 0 169
100 b ALET 0 95
110 #3THT 0 1144
120 ¥A;TAHT 0 207
130 #&FHT 0 350
140 EAEET 0 14
150 1 FFrHET 0 313
9999 KB XEt 1 3500
510 AETHT B 0 310
520 HpEEMT 0 129
530 J\It&HET 0 195
540 15 EHT 0 346
550 FithET 0 326
560 = ZLHT 0 87
570 EEHT 0 70
580 #rBHET 0 136
590 #7;EHT 0 51
600 ZEARET 0 498
610 JEHT 0 167
620 FEBET—T B 0 2
630 ¥TERT T H 0 6
9999 J\ KXt 0 2323
1010 R HHT 0 179
1020 Lt FHT 0 298
1030 b HT 0 305
1040 78 HHET 0 495
1050 & FHHET 0 629
1060 FH _EHT 0 566
1070 F7[RHET 0 566
1080 & FHHT 0 434
1090 HEHT 0 554
1100 L BiEHT 0 603
1110 fRIEET 0 181
1120 #Z1E JCHT 0 62
1130 +5&HT 0 22
1140 Fk[RHET 0 14
1150 #/RET—T B 0 150
1160 #EET=TH 0 186
1170 ;B/KHET 0 140
1180 EE&FLHET 0 208
1190 #&FARHT 0 160
1200 XFHET—TH 0 111
1210 XFHEIZTH 0 139
1220 $HET 0 127
1230 %KHET 0 136
1240 B EHT 0 131
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1260 B & 0 30
1270 EEHT 0 119
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1290 $RHET 0 152
1300 & EEHT 0 122
1310 RILGHET 0 62
9999 K HEMZXET 0 7174
1510 A& _E BT 1 667
1520 }EHI T BT 0 623
1530 }EHTHT 0 309
1540 K{@=FHT 0 482
9999 FEMNA: X 5 1 2081
2010 EE AT 0 197
2020 %= EFGHET 0 244
2030 AT 0 19
2040 ;ET—T H 0 197
2050 BT =T B 0 174
2060 ¥g AT 0 36
2070 FxEBT—TH 0 237
2080 FRET—TH 0 176
2090 THIELHET 1 1533
2100 fhdLHT 0 252
2110 }EWIETET—T B 0 240
2120 HEMIFTETZT B 0 283
9999 £ ERXET 1 3588
2510 FAMEET 0 2055
2520 sk EeHT 0 1376
2530 = /INRHET 1 407
2540 FHi5HT 0 375
2550 ;HHET 0 220
2560 = EHT 0 852
2570 X &HT 0 73
9999 ME R X ET 1 5358
3010 K#THT 0 936
3020 ;BT HT 0 910
3030 _EEFHT 0 752
3040 &S _LHET 0 130
3050 B AT 0 2288
3060 B THT 0 449
3070 wyESEAT 0 428
3080 HHHHT 1 365
3090 H A E AT 0 388
3100 HHPFHHET 0 453
3110 EHAILHET 0 381
9999 /\FHERXET 1 7480
3510 27 _FHT 0 165
3520 £ R chfT 0 319
3530 27 THT 0 926
3540 Z= B KHT 0 341
3550 AETHT 1 750
3560 = T ERAT 0 260
3570 = T AT 0 721
3580 FLIFTHT 0 545
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6610 HEA _LFEHT 0 43

6620 HZE AT 0 32
6630 HZE AT FGHET 0 72
6640 B &= A EitslT 0 32
6650 B ZASHET 0 2
6660 HZ A RLHET 0 21
9999 HEARKKXET 1 1118
7010 — &M O ET 0 142
7020 — R AHT 0 210
7030 — R FRHAHET 0 81
7040 — BT KEFHET 1 174
7050 — R ¥y H I HET 0 96
9999 — R&XEt 1 703
8011 IRAETFEHERLY 0 46
8012 IR AHTFHERA 0 120
8013 YR AHTFEER (& 0 71
8021 IRAHTIZEKLY 0 72
8022 IRAHTIEKA 0 3
8023 IR AHTIEKIL 0 4
8031 YAHETH ALY 0 121
8032 IRAHTHA A 0 8
8033 FAHETH AL 0 19
8041 R AHETHELIFZL 0 50
8042 IR AHTELIRA 0 24
8043 IR AHTELIR L 0 12
8044 IR AHTELIRIC 0 21
8045 IR AHTELIR (X 0 37
8050 IR AHETIRA 1 92
8060 IR AHTFT#E 0 100
8070 JRABTER 0 75
8080 Ik AHT &k 0 36
8090 IR AHTHEE 0 34
8100 JRAHBTH /1% 0 9
8110 IRAHTJII 5 0 24
8120 IR AHTER" 0 66
8130 YRAHETH L 0 67
8140 IRABTHFRKT 0 105
8150 IR AHBTEFRK L 1 78
9999 AKX 5T 2 1294
9010 +THTAKEH 0 568
9020 FTHTHEA 0 386
9030 +THTH & H 0 1254
9040 +THTHEH 0 1281
9999 FT#XEt 0 3489
9110 SRETTTH & 0 502
9120 SFETH L 0 210
9130 $EHTH & 0 148
9140 SERT T4 1 401
9150 $EHT L 45 0 481
9160 SRETERHT 0 699
9170 $RATNEA 0 869
9180 #RHTEE 1 513
9190 $ERTZ O 0 210
9200 $EHTEFIF 0 207
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9210 SRET=EH 0 370

9220 SxETHH 0 543
9230 $EHTE M 0 657
9240 $EHETIEE 0 261
9250 % HT At #r b 0 529
9999 S XET 2 6600
9310 E[FHET:AR 0 180
9320 H[ZHETAL 0 230
9330 FH[SAT/INE 0 146
9340 R [ZHTR 0 373
9999 WG XET 0 929
9410 RETT & 0 343
9420 RHETHHE 0 204
9430 RETFER 0 135
9440 RETAEF 0 10
9450 RHETHER 0 17
9460 RET{—_HE 0 29
9470 RETEXR 0 7
9480 RHETHER 0 54
9999 RIXXEt 0 799
99999 &t 13 57763



